Roll-Rite.

Automated Covering Systems

Tarp Spool with Wind Deflector

Tarp Master, Super Duty 98” and 103" wide Wind Deflector



Roll-Rite.

Automated Covering Systems

Tarp Spools with Wind Deflector

Tarp Spool w/ Wind Deflectorl

36460 Spool Kit, TarpMaster Tarp Spool
w/97" Wind Deflector & Mounting Brackets

36470 Spool Kit, Super Duty Tarp Spool
w/97" Wind Deflector & Mounting Brackets

36480 Spool Kit, TarpMaster Gear Motor
w/103" Axle Spool Kit w/WD - S/N: TM

36490 Spool Kit, Super Duty Gear Motor
w/103" Axle Spool Kit w/ WD - S/N: SD

Bom | Part# | Description qty
ID

1 36460 | Spool Kit, TarpMaster Tarp Spool w/97" Wind Deflector & Mounting Brackets - S/N: TM 1

2 36470 | Spool Kit, Super Duty Tarp Spool w/97" Wind Deflector & Mounting Brackets-S/N:SDX 1

3 36480 | Spool Kit, TarpMaster Gear Motor w/103" Axle Spool Kit w/WD - S/N: TM 1

4 36490 | Spool Kit, Super Duty Gear Motor w/103" Axle Spool Kit w/ WD - S/N: SD 1

www.RollRite.com

650 Industrial Drive Gladwin, Ml 48624

800-297-9905


http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Aot coviag s Tarp Spools with Wind Deflector

36460 Spool Kit, TarpMaster Tarp Spool w/97" Wind Deflector & Mounting Bracketsl

o
)
. | b
N '\@

Bom | Part# Description qty
ID

Ref 36460 | Spool Kit, TarpMaster Tarp Spool w/97" Wind Deflector & Mounting Brackets - S/N: TM 1

1 10310 | Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1

2 36360 | Wind Deflector, 97" Tall 1
2.1 18120 | Bolt, 3/8" x 1-1/2" Thread Cutting Screw Hex Washer Hd 6

3 18294 Bolt, 1/2" x 1" Hex Head Bolt 4
4 18631 | Nut, 1/2" Nylock Nut 4
5 36340 | Bracket, Aluminum Mounting Brackets - PAIR 2

6 31030 | Axle, 97" Pre Threaded AL Tarp Axle w/Stub Shaft 1

7 100650 | Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1

8 11411 | Wire, 16/3-Conductor -15ft 1

9 100743 | Wire, 8 ga. Dual Conductor(55') 1
10 31050 | Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
11 18260 | Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 1
12 101501 | Instructions, Front to Back Installation 1

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Aot coviag s Tarp Spools with Wind Deflector

36470 Spool Kit, Super Duty Tarp Spool w/97" Wind Deflector & Mounting Brackets-S/N:SDX (B1-36472&B2-36473)I

Bom | Part# | Description qty
ID

Ref | 36470 | Spool Kit, Super Duty Tarp Spool w/97" Wind Deflector & Mounting Brackets 1
1 10122 | Gear Motor, Super Duty w/5 Year Warranty - S/N: SDX 1
2 36360 | Wind Deflector, 97" Tall 1
2.1 18120 | Pivot Driver, Side Assembled Sliding Pivot w/out Tubes 6
3 31050 | Pivot Passenger, Side Assembled Sliding Pivot w/out Tubes 1
4 31030 | Axle, 97" Pre Threaded AL Tarp Axle w/Stub Shaft 1
5 18260 | Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
6 36340 | Bracket, Aluminum Mounting Brackets - PAIR 1
7 18294 | Bolt, 1/2" x 1" Hex Head Bolt 4
8 18631 | Nut, 1/2" Nylock Nut 4

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Automated Covering Systems

Tarp Spools with Wind Deflector

36480 Spool Kit, TarpMaster Gear Motor w/103" Axle Spool Kit w/WD - S/N: TMI

Bom Part# Description qty
ID

Ref 36480 | Spool Kit, TarpMaster Gear Motor w/103" Axle Spool Kit w/WD - S/N: TM 1
1 10310 | Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1
2 36350 | Wind Deflector, 103" Tall 1
2.1 18120 | Bolt, 3/8" x 1-1/2" Thread Cutting Screw Hex Washer Hd 6
3 31050 | Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
4 11411 | Wire, 16/3-Conductor -15ft 1
5 100743 | Wire, 8 ga. Dual Conductor(55') 1
6 100650 | Electric Kit, With 10698 Relay and Rocker Switch for 8 ga wire w/35 amp breaker 1
7 31040 | Axle, 103" Pre Thrd AL Tarp Axle w/Stub Shaft 1
8 18260 | Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
9 36340 | Bracket, Aluminum Mounting Brackets - PAIR 1
10 18294 | Bolt, 1/2" x 1" Hex Head Bolt 4
11 18631 | Nut, 1/2" Nylock Nut 4

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Aot coviag s Tarp Spools with Wind Deflector

36490 Spool Kit, Super Duty Gear Motor w/103" Axle Spool Kit w/ WD - S/N: SDI

Bom Part# | Description qty
ID

Ref 36490 | Spool Kit, Super Duty Gear Motor w/103" Axle Spool Kit w/ WD - S/N: SD 1
1 10310 | Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1
2 36350 | Wind Deflector, 103" Tall 1
2.1 18120 | Bolt, 3/8" x 1-1/2" Thread Cutting Screw Hex Washer Hd 6
3 31050 | Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
4 31040 | Axle, 103" Pre Thrd AL Tarp Axle w/Stub Shaft 1
5 18260 | Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
6 36340 | Bracket, Aluminum Mounting Brackets - PAIR 1
7 18294 | Bolt, 1/2" x 1" Hex Head Bolt 4
8 18631 | Nut, 1/2" Nylock Nut 4

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Aot coviag s Tarp Spools with Wind Deflector

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

